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1. GMAT Verbal

Basic Principles

Tenses:

· Present Tense walks
· Simple Past Tense walked
· Present Perfect Tense has walked (Present Perfect = HAVE/ HAS + Past participle)

· Past Perfect tense had walked (Past Perfect = HAD + Past Participle)

· Future tense will walk

Memorize
Singular Pronoun 
1. I
2. me
3. mine
4. he/she
5. him/her
6. his/her
7. yours
8. it
9. each
10. another
11. one
12. other
13. such
14. this
15. either
16. neither
17. each
18. everyone
19. everybody
20. nobody
21. no one

Plural Pronoun 
1. we
2. us
3. they
4. them
5. both
6. these
7. those

Singular or Plural Pronoun 
1. some
2. any
3. you
4. who
5. which
6. what
7. that
Subject form of Pronoun

I, we, you, he, she, it, they

Object form of Pronoun

me, us, you, him, her, it, them

Singular Indefinite pronouns

NO

1. no-one
2. nobody
3. nothing
4. none

SOME

5. some one
6. something
7. somebody 

ANY

8. anyone
9. anything
10. anybody

11. another
EVERY

12. everyone
13. everything
14. everybody
EACH

15. each one
EITHER / NEITHER

16. either
17. neither
18. one
19. each

20. whatever
21. whichever
22. whoever 
Plural Indefinite Pronouns

Both, few, others, several
Relative Pronouns 

1. that
2. which
3. who
4. whom
5. whose
6. whichever
7. whoever
8. whosever
9. whomever
	Singular
	Plural

	The number of…
	A number of…

	Politics
	People

	News
	Dioxins

	No one
	3 out of 5 (Numbers greater than one)

	Physics/Economics
	


Singular or Plural Quantifiers (Quantifier + of + Noun + Verb The noun determines whether verb is singular or plural.)
Some, More, Most, All, none, fractions SMMANF
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	Compare 2 items
	Compare many items

	between
	among

	more
	most

	better
	best

	less
	least

	
	


Subordination

Time: 

when, whenever, after, as, before, once, since, till, until, now, that, while, as long as, as soon as.

Concession:  
though, although, even though, if, while.

Contingency: 
if, once

Condition: 
if, in case, as long as, unless provided that.

Reason:  
because, since, as long as.

Result:  

so, so that.

Comparison:  
as, just as, as if.

Contrast:  
while, whereas.
Coordination

But, or, Yet, so, for, and, nor  (BOYSFAN)
Conclusion words

1. Therefore



2. hence




3. thus



4. so


5. Implies




6. indicates that


7. so accordingly 


8. means that

9. consequently 



10. follows that 



11. shows that 


12. conclude 


13. as a result 



14. means that

Evidence words

1. Because




2. in view of


3. since




4. For

5. given that



6. is evidence that 



7. be derived from


8. if in that 




9. as owing to 



10. suppose 

11. inasmuch as 



12. assume 



Extreme Argument scope/Quantifiers/Disputable

1. all 

2. except 

3. likely 

4. some 


5. most 


6. many 


7. only 

8. could 


9. no 


10. never 


11. always 


12. everywhere 

13. probably 


14. must 


15. alone


16. complete
Indisputable words

Usually, sometimes, some, most, may, can,                   
 USSMMC
Restrictors - placed directly before the word or phrase it modifies. 
E.g.  My roommate smiles only on weekends.  My only roommate smiles on weekends. Only my roommate smiles on weekends

almost, exactly, even, just, nearly, hardly, merely and scarcely.

Contradiction/Opposition/Trigger/change

1. But 

2. despite of

3. except 
4. Even though 

5. nonetheless 

6. nevertheless 

7. although 

8. However 
9. in spite of the fact


10. while
11. Unless

12. on the other hand


13. yet

14. rather
15. Instead


16. on the contrary
17. admittedly 
18. notwithstanding

Continuation

1. In addition

2. by the same token

3. likewise

4. Similarly

5. Furthermore


6. moreover

Comparing words

1. Like

2. Similar


3. than 

4. As 


5. compared to

6. More than
7. Less than

8. other than


9. that of 


10. those of



11. as great as

12. at least as great as

Parallel phrases
1. Either X or Y



2. Neither X nor Y
3. not X nor Y
4. From X to Y 

5. Both X and Y…



6. Prefer X to Y…

7. between X and Y

8. distinguish between X and Y
ONLY
9. Not only X but also Y
10. not only on X, but also on
Y
11. responsible not only for X, but also for Y
SAME
12. X is not the same as Y…


13. X is same as Y…
14. the same to X as to Y
15. same as X as to Y

AS
16. not as much X as Y
17. so X as to be Y


18. as X as Y

19. used  X as Y 

JUST

20. just as + clause, so too + clause
21. just as X, so Y

22. that X and that Y

23. not X, but rather Y

24. the (X&Y) and not the (P&Q)

25. (verb) of X and of Y

26. (verb) in X or in Y

27. (verb) to (X&Y) as well as to (P&Q)

28. tell X and Y apart

29. in which X and in which Y and in which Z
30. exchange X for Y
31. range from X to Y
32. substitute X for Y
33. combine X with Y

34. combine X and Y

35. To X is to Y

36. to compare X is to compare Y
37. X is attributed to Y

38. Unlike X, which…, Y….

39. Whether X or Y

40. not X, but Y
41. the more X, the better Y

42. more/less X than Y

Common idioms

1. ability in something

2. ability to do something

3. absent from

4. accede to

5. accepted at + college/ university

6. accepted into + group

7. accepted to + college

8. access to

9. acclaim as

10. according to

11. account for

12. accuse of 

13. accustom to

14. acquaint with

15. act as

16. adapt from

17. adapt to something

18. addicted to something

19. admit of something

20. advantage of  A

21. afflicted with

22. afraid of

23. agree on something

24. agree to do something

25. agree to something

26. agree with somebody
27. aid somebody/ something

28. aid A in doing  B

29. aim at / to
30. allergy to
31. allow for

32. amount to

33. angry at/ with

34. appeal to somebody 

35. appear to

36. apply to

37. approach (the noun) to something

38. approve of

39. argue about something

40. argue for something

41. argue over something
42. argue with somebody
43. arrive at

44. as (adjective) as

45. ask of

46. associate with

47. assure that

48. at a disadvantage

49. attempt to

50. attend to

51. attention to

52. attest to
53. X is attributed to Y
54. attribute to

55. available to

56. averse to

57. aversion to/ for/ toward something

58. aware of

59. based on

60. be credited with

61. be given credit for 

62. because of

63. believe to be
64. better than

65. call for

66. capable of

67. cheat on

68. choice of

69. choose from

70. choose to

71. claim to

72. collaborate with

73. compare with/to

74. comply with

75. composed of
76. concerned with (related to)
77. concerned for (worried/anxious)
78. conclude that

79. conform to (not conform with)

80. consequence of

81. consider (think / regard as) noun 
(consider to/as is wrong)
82. consist in/of/with
83. consistent with

84. continue to

85. in contrast with/to (not as contrast with)
86. convert to

87. convinced that

88. correspond to/with
89. cost of something

90. cost to someone

91. craving for
92. credited to have
93. credit X with Y
94. credit X to Y

95. in danger of

96. date from

97. deal with

98. debate over

99. decide on/to/that
100. defend against

101. define as

102. delighted by

103. demonstrate that

104. depend on

105. depict as

106. descend from

107. desirous of
108. determined by
109. different from

110. difficult to

111. dispute over

112. divergent from

113. draw on

114. due to

115. [in an] effort to

116. enamored with

117. encourage to

118. equal to

119. estimate to be

120. expected to

121. expose to

122. extend to

123. extent of

124. fail in hypothesize that

125. fear that

126. feel up to
127. fluctuations in
128. forbid X to Y

129. forbid X from 

130. X forbids Y to do Z

131. force to

132. frequency of

133. get over with

134. great as

135. go in for

136. go after

137. go along with

138. identical with (not identical to)

139. to have an impact on 
(not to be an impact on, not impact to)
140. in contrast to

141. in danger of

142. in order to

143. in search of

144. in violation of

145. inclined to

146. increase in

147. independent of (not to)

148. infected with

149. instead of
150. intent on/to
151. introduce to

152. known as/to
153. isolate from

154. likely to

155. liken to mistake for

156. look forward to

157. look X up

158. look up

159. make up

160. make up for

161. meet with

162. mistake for

163. model after

164. more than

165. move away from

166. a native of (human beings)

167. native to
168. necessity for / of
169. negotiations with

170. on account of

171. opportunity for/to
172. opposed to

173. opposite of

174. ought to

175. pay X

176. pay (someone) for it
177. partake of

178. permit to

179. persuade to

180. practice for /of/to
181. predisposed to

182. preferable to

183. prejudiced against

184. pressure to

185. prevent from

186. prior to

187. prized by

188. prohibit from
189. X prohibits Y from doing Z

190. protect against

191. provide with

192. put up with

193. question whether

194. rather than

195. regard as

196. replace with

197. require A to / by
198. requirements of
199. requiring that X (verb)

200. require X to (verb)

201. responsibility to / for/ on
202. result from/ in / of
203. Retroactive to (not from)

204. rule that

205. see A as

206. see as

207. send to

208. sense of so…that

209. separate from
210. similar to
211. so + (adjective) + as to

212. so + (adjective / adverb) + that + clause

213. spend on

214. subject to

215. suffer from

216. superior to

217. supplant by

218. suspicious of

219. sympathize with/for
220. tamper with

221. target A as

222. target at (target to is wrong)
223. tend to 

224. theory that

225. think of A as

226. threaten to

227. tie to

228. to result in

229. to seek support from

230. train to

231. transit to

232. try to fix (try to and fix is wrong)
233. try to 
234. type of

235. use of
236. use X as Y
237. view as

238. vote for
239. to view  from

240. to view up close
241. willing to

242. worry about

Redundant Word

1. Advance forward 

2. annual cost per year

3. proceed forward 


4. progress forward 


5. return back 
6. revert back 


7. sufficient enough 


8. can have the capability to

9. complete together 

10. reason ... because 
11. join together 


12. repeat again 


13. new innovations 


14. same identical 
15. two twins 


16. the time when 
17. those who


18. the place where 


19. extremely critical 
20. both of them 


21. consensus of opinion 

22. fewer in number 


23. discussed about 
24. estimated at about 

25. sum total 
26. sum amount


27. exact duplicate 


28. absolutely essential 
29. actively engaged 


30. advance warning 


31. and also 
32. X and Y both/alike

33. combined together 
34. dead body 


35. first began 


36. future plans 


37. Free gift - Gift \
38. golden wedding anniversary 
39. government white paper 

40. if and when 



41. included among 
42. in order to - supposed to be 

43. linked together 


44. may possibly 



45. new acquisition, departure, development 


46. past experience 


47. regular monthly meeting 


48. 7pm in the evening 
49. small in size 


50. successfully passed 


51. suddenly, and without warning 

52. temporary reprieve 
53. terrible disaster 



54. totally, completely destroyed 

55. unexpected surprise 


56. young boy, girl 
57. end result ---- result 

58. close proximity -- close
59. hidden pitfall -- pitfall 


60. personal friend- friend 
61. unsolved problem 
62. contributing factor 

63. at that time  
64. for this reason 

65. in most cases  


66. until such time 


67. at a later date 


68. surrounded on all sides
69. it is apparent that 

70. despite the fact that

71. the reason why  

72. the exact same thing 

73. Whether or not  


74. the other one

75. previously in the past

76. declining down

77. progress made in – progress in

78. may likely

79. increased by more than x times

Subordinate Clause

1. after

2. although

3. as

4. because

5. before

6. even if

7. even though

8. if

9. in order that, once

10. provided that

11. rather than

12. since

13. so that

14. than

15. that

16. though

17. unless, until

18. when

19. whenever

20. where

21. whereas

22. wherever

23. whether

24. while

25. why 


Infinitives

1. agree




2. appear  




3. arrange




4. associate with

5. ask




6. attempt


7. admit

8. allow

9. attempt

10. begin 

11. can't bear

12. care




13. claim consider

14. continue

15. dare 

16. decide 

17. demand

18. deserve

19. difficult 


20. dread 

21. endeavour

22. expect 

23. fail

24. forget

25. get 

26. go on

27. grow

28. happen

29. hasten

30. hate

31. help 

32. hesitate 

33. hope

34. hurry

35. imagine 

36. immune to

37. intend

38. intend

39. keep(in order to) 

40. leap

41. learn

42. likely to be

43. long

44. love 

45. make (passive) 

46. manage

47. mean

48. neglect

49. offer

50. pay 

51. permit

52. plan

53. plan

54. pledge

55. possibility of

56. prefer

57. pretend 

58. problems in

59. propose

60. rates for (price charged for)

61. refuse 

62. regret

63. remember

64. require

65. resolve

66. say 

67. seek 

68. seem 

69. start

70. stop 

71. struggle 

72. swear 

73. tend 

74. try

75. vow

76. want

77. wish




78. would like 



79. yearn




Prepositions

1. about 




2. behind 




3. from 




4. on 

5. toward 




6. above 




7. below




8. in 

9. on 




10. top 




11. of 




12. under 

13. across 




14. beneath 




15. in 




16. front 

17. of 




18. onto 




19. underneath 



20. after 

21. beside 




22. inside 




23. out 




24. of 

25. until 




26. against 




27. between 



28. instead 

29. of 




30. outside 




31. up 




32. along 

33. by 




34. into 




35. over 




36. upon 

37. among 




38. down 




39. like 




40. past 

41. with




42. around 




43. during 




44. near 

45. since 




46. within 




47. at 




48. except 

49. of 




50. through 




51. without 




52. before 

53. for 




54. off 




55. to 

Idioms and Usage
1. Accept/Except
· Accept means "to agree to" or "to receive." E.g. We will accept (receive) your manuscript for review.
· Except means "to object to" or "to leave out." e.g. No parking is allowed, except (leave out) on holidays. 
2. Account for / Account to
· Account for – explain something E.g. We had to account for all the missing money.
· Account to – receive blame or credit e.g. You will have to account to the state for your crimes.
3. Adapted to/for/from 
· Adapted to means "naturally suited for." E.g. The polar bear is adapted to the subzero temperatures. 

· Adapted for means "created to be suited for." E.g. For any "New Order" to be successful, it must be adapted for the continually changing world power structure. 

· Adapted from means "changed to be suited for." E.g. Lucas' latest release is adapted from the 1950 B-movie "Attack of the Amazons."

4. Affect vs Effect
· Affect is a verb meaning "to influence." E.g. The rain affected their plans for a picnic. 

· Effect is a noun meaning "a result." E.g. Increased fighting will be the effect of the failed peace conference.
· to Effect - to execute, produce, or accomplish something. E.g. the dictatorial regime quickly effected changes to the constitution that restricted the freedom of the people.
5. Ago vs Since
· Ago - from the present to the past e.g. It happened a few minutes ago.

· Since - from the past to the present e.g. I haven't eaten since breakfast.
6. Agree to vs Agree with
· Agree with is used when a person is agreeing with another person. E.g. I completely agree with you on this one.

· Agree to is used when a person is agreeing to something inanimate. e.g. I agree to your proposal

7. Aim to vs Aim at
· Aim to - Try or intend to do something – aim to + verb e.g. She aims to fly to California.

· Aim at - Direct a missile or criticism at something or someone – aim at + noun e.g. In his last speech the President took aim at the opposition leader.
8. Although / Though (or ‘in spite of the fact that’) vs Even though 
· ‘Although’ is linking word meaning contrast. 

· ‘Even though’ is stronger and more emphatic than ‘although’

9. All ready vs. Already 
· All ready means "everything is ready." 

· Already means "earlier."

10. Alot vs A lot 
· Alot is non-standard
· a lot is the correct form.

11. As long as (conjunction)means that one thing will occur while another thing is still true

· During the time that: I'll stay as long as you need me.

· Since: As long as you've offered, I accept.

· On the condition that: I will cooperate as long as I am notified on time.

12. At
· AT + clock time / meal time E.g. at three o'clock ; at lunch (- time) ; at that time ; at the moment

· AT + two or three days E.g. at Easter / Christmas ; at the weekend (US : on the weekend)
· We do not use in, on, or at before every, last, next, this, tomorrow and yesterday.
13. Believe / Theory / belief
· Believe / belief / theory: Thinking words are always followed by that
14. because vs on account of 
· ‘Because’ is preferred over ‘on account of’. 
This is because ‘because’ can introduce an entire subordinate clause in the sentence
15. because / Because of / due to / caused by / Even if
· Because of is not same as caused by. An adverbial phrase beginning with because of answers the question "why"? 
· Due to means caused by - Use due to only if it can be substituted by caused by. Due to does not mean because of
E.g. the game was postponed due to rain (incorrect). 
E.g. The game’s postponement was due to rain. The game’s postponement was cause by rain.
· Even if is used in conditional sentences to mean 'it doesn't matter if'
16. Being that vs. Since
· Being that is non-standard
· Since should be used instead.
17. Beside vs Besides
· Beside means "next to." E.g. We sat beside (next to) the host. 

· Besides means "in addition." E.g. Besides (in addition), money was not even an issue in the contract negotiations
18. Can vs. Could
· Can is used for : 
General ability (I can speak English), 
opportunity (I can help her now), 
request (Can I have a glass of water?), 
possibility (Anyone can become rich and famous).

· Could is used for: 
possibility (John could be the one who stole the money),
condition (If I had more time, I could travel around the world), 
suggestion (You could spend your vacation here), 
polite request (Could I have something to drink?)

19. Center on vs. Center around
· Center around is colloquial. It should not be used in formal writing.
20. Chief of which vs chief among which
· Chief of which  is better
· Chief means main or principal, and all three words mean the top one. When we refer to a member of a group, we use of. For example, if we want to name our best friend, we'd say He is the best of my friends, but not He is the best among my friends.

21. Compared to vs. compared with
· Compared to (for unlike things) is used to liken two things or to put them in the same category. 
You should use "compare to" when you intend to simply assert that two things are alike. 
Use "compared to" to illustrate that two things are similar
E.g. The economy can be compared to a stallion charging at the gate.
· Compare with (for like things) is used to place two things side by side for the purpose of examining their similarities or differences. 
Use "compared with" to illustrate the differences a comparison draws
e.g. It would be interesting to compare Purdue with Ohio State.
22. Correspond to vs correspond with
· Correspond to means "in agreement with" E.g. The penalty does not correspond to the severity of the crime. 

· Correspond with means "to exchange letters" E.g. He corresponded with many of the top European leaders of his time.
23. credit to vs credit with
· credit A to B: give money or credit to e.g. The bank credited $1 million to his account.

· credit X with Y: give responsibility for e.g. The customer received a $20 credit for the interruption of service.
24. Different from vs. Different than 
· Different from means not the same, compare 2 nouns. e.g. -- Sara's taste is different from mine.
· Different than  In US English, than is an alternative to from before a clause. e.g -- Sara's appearance was very different than I'd expected.

· NOTE : On GMAT different than is generally always wrong when comparing two nouns. 
Different than is only correct when a sentence compares a noun and a clause.

25. Doubt that vs. doubt whether
· Doubt that is correct

· Whether or if should be used to introduce clause following doubt

· No doubt is followed by that. E.g. he does not doubt that… there is no doubt that 
26. Do vs. Make
· do good, harm, business, one's best, a favour, sport, exercise, one's hair, one's teeth, one's duty

· make a journey, an offer, arrangements, a suggestion, a decision, an attempt, an effort, an excuse, an exception, a mistake, a noise, a phone call, money, a profit, a fortune, peace, love, war, bed, a fire, progress

27. Do – substitute verb (auxiliary verb + do)
· do can be used alone as a substitute verb after an auxiliary verb 
E.g. He smokes more than he used to - American English. He smokes more than he used to do.- British English
28. Do – auxiliary verb 
· an auxiliary verb is used instead of a whole verb phrase, "do" is common in affirmative clause, questions and negatives. e.g.  She doesn't like singing, but I do.

29. Each
· Each is usually singular. 
· But when each is written after a plural subject, the verb and subsequent pronouns remain in the plural.

· E.g. Three cats each eat. (Correct)
E.g. Three cats, each of which eats… (Correct)
30. Each vs. Every
· Each is one by one. 
· Each can be followed by a verb. E.g. Each soldier received a medal.

· Each means two. E.g. She was wearing a bangle in each hand.

· Each of is possible. E.g. I spoke to each of them.

· Every is an intermediate of each and all.
· Verbs with each and every are always conjugated in the singular.

31. Even if vs Even though
· ‘Even if’ means ‘whether or not’ or ‘just supposing’ (unreal situation) E.g. Even if he loses his job as Arts Minister, I think he'll continue to serve in the government.

· ‘Even though’ means despite the fact that (real situation). E.g. Even though he lost his job as Arts Minister, he continued to serve in the government.

32. Farther vs Further
· farther when referring to distance. E.g. He threw the discs farther (distance) than the top seated competitor. 

· further when referring to degree. E.g. They went no further (degree) than necking.
33. For vs. Along with
· For = despite

· Along with = in addition to
34. Free from vs. free of
· Free from ==  free of
35. Greater than vs. More than
· Greater than is used when describing numbers alone. E.g. Greater than 100 ( >100)
· More than is used when describing numbers of objects or when making comparisons. E.g. More than 100 butterflies
36. Half and Part
· Half of the boys are in camp. (number -- plural)
· Half of the pie is left. (mass or section -- singular)
· Part of the roof was destroyed. (mass or section -- singular)
· Part of the guests have arrived. (number -- plural)
37. It - as subject of a sentence
· Empty or meaningless word in expressions that concern the time or the weather e.g.  It is one o'clock. It is raining..
· Referring to the deferred real subject that follows the verb: e.g. It is useless to wait. (deferred subject - to wait) ( To wait is useless. 

38. In
· IN + year / month / season.  E.g. in 1988 ; in September ; in winter ; in 21st century
· IN + a week or more E.g in the Easter holiday ; in the summer term
· IN + part of day E.g. in the morning ; in the evening

· In time means 'early enough'

39. In spite of = despite (to mean a contract)
· as a preposition. E.g. (In spite of + noun) means almost same as (although + clause). E.g. We went out in spite of the rain. ( = .... although it was raining.)

· ‘In spite of’ is the opposite of ‘because of’. 
E.g. She passed her exams in spite of her teacher. => (She had a bad teacher). 
She passed her exams because of her teacher. => (She had a good teacher). 

· In spite of cannot be followed directly by a that - clause. Instead we can use ‘in spite of the fact that’. E.g. He is a good company in spite of the fact that he talks all the time.

40. In that
· In that is stilted and overly formal
41. If… Then
· Present ... will + Base Verb. E.g. If Ram wins... he will give 

· Past... would/could + Base verb. E.g. If Ram won... he would give

· Past Perfect... would/could + have + Participle. E.g. If Ram had won... he would have given
42. Just as

· Just as == in the same way that
43. Law vs. by Law
· E.g. Law protects people
· E.g. By Law, people are protected.

44. Less vs Fewer
· Less is the comparative of little (used especially before uncountable nouns). 
Fewer is the comparative of few ( used before plural nouns) 
· Less - time, money, distance
· Less of and fewer of 
used before determiners such as the, my, this and before pronouns. e.g. - At reunions, there are fewer of us each year.

· Before nouns without determiners, of is not used. e.g. - If you want to lose weight, eat less food. (NOT less of food)

· Nouns can be dropped after less and fewer if the meaning is clear. 
E.g. Some people go to church, but less/fewer than 20 years ago

· Less can be used as an adverb (the opposite of adverb more) e.g - I worry less than I used to.

· Lesser - used to mean "smaller" or "not so much" e.g. - the lesser of two evils.
45. Like vs As
· Like - used to compare two nouns. 
E.g. Incorrect - Gita and Sita, as their mother Reema, are extremely smart. 
Correct - Gita and Sita, like their mother Reema, are extremely smart.

· As - used to compare two clauses/ 2 nouns doing 2 actions 
E.g. Incorrect - Just like swimming is good exercise, running is a way to burn calories. 
Correct - Just as swimming is good exercise, running is a way to burn calories. 

· Note : Do not use Like when you mean for example.
46. Like vs Such As
· Like – the speaker does not want the examples.  E.g. Can you buy me some fruits like apples and oranges?
· Such as – the speaker wants the examples. E.g. Can you buy me some fruits such as apples and oranges?
· Such … as. E.g. I would like you to buy such fruit as apples and watermelon for me.
47. Looked like vs Looked as if 
· ‘Looked like’
· looked as if = appeared that
48. Plus vs. And
· Do not use plus meaning conjunction and
· Plus can be used to mean and so long as it is not being used as a conjunction.
49. On
· ON + day / date. E.g. on Wednesday ; on 15 April ; on that day
· ON + a single day E.g. on Easter Monday ; on Christmas Day
· ON + day + part of day E.g. on Friday morning ; on Tuesday evening

· On time means at the right time , on schedule

50. One of
· one of or one of the, a singular verb is used. e.g. - One of the books is missing from my cupboard.

· one of those who or one of the things that, a plural verb is used. e.g. - He is one of our employees who are always alert.

· Only one of / only one of those, a singular verb is used. E.g. Ram is the only one of our employees who is always alert.

51. Regards vs Regard
· Regards (best wishes)
· Regard (in relation to) E.g. In regard to your letter, we would be interested in distributing your product.
52. Rather than vs Instead of
· ‘Rather than’ shows preference. This expression is generally used in 'parallel' structures. 
e.g. - with two nouns, adjectives, adverbs, infinitives or -ing forms. When the main clause has a ‘to – infinitive’, rather than is usually followed by an infinitive without to or -ing form. 
E.g. We ought to invest in machinery rather than buildings. I prefer starting early rather than leaving things to the last minute.

· ‘Instead of’ (preposition) suggests replacing another. Instead of is not usually followed by an infinitive. E.g. I'll have tea instead of coffee, please. I stayed in bed all day instead of going to work. 

· Instead (without of) is an adverb. It begins or ends a clause usually. e.g. - She didn't go to Greece after all. Instead, she went to America.

53. Since vs For
· Since: indicates a starting point of time (since + starting time). E.g. I have lived in Bangalore since 1991.

· For: indicates the length of a period of time (for + period of time) E.g. I have lived in Bangalore for ten years.
54. so as to
· So + adjective + as to + verb E.g. Her debts are so extreme as to threaten her company. (Correct)

· So as to + verb E.g. He exercises everyday so as to build his stamina.(Incorrect) “So as” is never correct
· so + (adjective / adverb) + that + clause

55. speak with vs speak to
· To speak to someone is to tell them something: We spoke to Jennings about the alleged embezzlement. 

· To speak with someone is to discuss something with them: Steve spoke with his friend Dave for hours yesterday.
56. Suffer vs. Suffer from
· To suffer to experience a loss

· to suffer from to experience an illness/disaster 
57. That vs. Which
· That  - introduces a restrictive clause, which is critical to understanding the sentence because the clause defines its antecedent. E.g. The brown house that has a rooftop is my favourite.

· Which introduces non-restrictive clause, which include information relevant but not critical to an understanding of the sentence. E.g. The brown house, which has a rooftop, is my favourite.
58. Though… <comma>‘ vs Though … Yet 
· Though… yet: Subjective mood (expressing doubt, a condition contrary-to-fact, a wish, a concession)  E.g. Though he might not have recognized me, yet it is rude of him. Though she disallowed me, yet I will go to her. Though he is poor, yet he is respected.

· Though: Indicative mood (expressing a fact or making a statement) a comma is used in place of yet. E.g. Though he is my relation, I shall not spare him. Though she is known to me, I shall not favour her.
· Though … But is wrong use.
59. twice vs doubled
· Adverb twice cannot be an object of proposition ‘by’.
‘Increase by twice’ is incorrect; ‘doubled’ is correct

60. Usual vs Is Usual 

· Usual - Compared to itself. E.g. He is nicer than usual. 

· Is usual - Compared to subgroup to which it belongs. E.g. He is faster than is usual for any human being.

61. Until can be used both as a preposition and as a conjunction. Until is used to express a point of time in the future

· Until (preposition) - Up to the time of: E.g. We danced until dawn.

· Until (preposition) - Before (a specified time) - E.g. She can't leave until Friday

· Until (conjunction) - Up to the time that: E.g. We walked until it got dark.

· Until (conjunction) - Before: E.g. You cannot leave until your work is finished. 

· Until (conjunction) - To the point or extent that: E.g. I talked until I was hoarse

62. Would vs Used to
· ‘Used to’ can refer to repeated actions and events in the past, in the same way as ‘would’ e.g. Sometimes he used to bring me little presents without saying why. Sometimes he would bring me little presents without saying why.
· Only ‘used to’, not ‘would’ can refer to past states e.g. I used to have an old Rolls-Royce.
· We use used to, not would, to talk about regular and important habitual behaviour. E.g. I used to smoke
63. Would
· In indirect speech, would is used after past reporting verbs where will was used in direct speech e.g. Tomorrow will be fine – DIRECT. The forecast said the next day would be fine - INDIRECT
· Future in past tense e.g. In Berlin, he first met the woman he would one day marry
· Polite requests and offers e.g. Would you open the window, please? If you would come this way.....
· past willingness of a general kind. e.g She would hover, dust and iron, but she didn't like doing windows.

· I would....if - refer to unreal or uncertain situations e.g. I would tell you if I knew.
· Typical behaviour e.g When she was old, she would sit in the corner talking to herself for hours.
64. Whether vs If  (wrong use: as to whether)
· Whether introduces a choice, 2 options
· If introduces a condition, more than 2 options
1. Prepositions + whether. e.g.  There was a big argument about whether we should move to a new house

2. Whether + to infinitives. E.g. They can't decide whether to get married now or wait.
3. Whether is generally preferred in a two - part question with or. E.g. The Directors have not decided whether they will recommend a dividend or reinvest the profits.

4. Formal style verbs + whether E.g. We discussed whether we should close the shop.

5. When a question-word clause is a subject or complement, whether is preferred. E.g. Whether we can stay with my mother is another matter. - (Subject) The question is whether the man can be trusted. - (Complement)

6. If an indirect question is fronted, whether is used. E.g. Whether I'll have time I'm not sure at the moment.

7. Whether and if both can introduce indirect questions. E.g. I'm not sure whether / if I'll have time.

8. Yes / No questions are reported with if or whether. E.g. I don't know if / whether I can help you.

9. Whether is used in depends on whether and not depends on if
65. When vs. If
10. When indicates a period of time

11. If indicates a condition

66. Which/Who
12. Which is a relative pronoun – should immediately follow it referent. E.g. The house, which is… 

13. Using a participle rather than a pronoun (which) allows the phrase to modify properly the entire clause that precedes it
E.g. I saw a man kicked/being kicked by a horse VS I saw a man who was kicked by a horse 
I witnessed a man being kicked as it happened VS I saw a man who had been kicked by a horse, but I didn't see him get kicked.
67. Who vs. Whom
14. If answer is in ‘HE’, use ‘WHO’. If answer is in ‘HIM’, use ‘WHOM’.
e.g. Who broke the glass (HE did, so ‘who’) By whom was the glass taken? (By ‘HIM’, so ‘WHOM’)
Grammar
1. Subjunctive Verbs
1. The structure of the subjunctive is extremely simple. For all verbs except the past tense of be, the subjunctive is the same as the bare infinitive (infinitive without "to"):

	be (past)
	be (present)
	all other verbs (past & present)

	I were
you were
he, she, it were
we were
you were
they were
	I be
you be
he, she, it be
we be
you be
they be
	I work
you work
he, she, it work
we work
you work
they work


2. We use subjunctives mainly when talking about events that are not certain to happen. For example, we use the subjunctive when talking about events that somebody:

· wants to happen

· hopes will happen

· imagines happening
E.g. The President requests that you be present at the meeting. It is vital that you be present at the meeting. If you were at the meeting, the President would be happy.

3. The subjunctive is typically used after two structures:

1. the verbs: ask, command, demand, insist, mandate, order, propose, recommend, request, suggest + that
2. the expressions: it is desirable, essential, important, necessary, vital + that



Here are some examples with the subjunctive:

3. The manager insists that the car park be locked at night.

4. The board of directors recommended that he join the company.

5. It is essential that we vote as soon as possible.

6. It was necessary that every student submit his essay by the weekend.

       It does not matter whether the sentence is past or present. 
4. Tenses:
7. Present: The President requests that they stop the occupation.

8. Past: The President requested that they stop the occupation.

9. Present: It is essential that she be present.

10. Past: It was essential that she be present.

2. Comparatives
1. logically comparable nouns -  "that of"  (singular) or "those of" (plural) instead of repeating a noun 
E.g. A car in India is much different from that of USA

2. pairs of similar words - The formers are always followed by noun/pronouns while the latter’s aren’t. 
E.g.  American cultures are (the same as/similar to/different from/like) those of England. or American cultures and those of England are (the same/similar/different/alike).
· the same as  - the same 

· similar to - similar 

· different from - different 

· like - alike 

3. Multiple numbers are always used with as much/many as e.g. USA has roughly twice as many people as India (does).

· half

· twice

· three times

4. Fewer than (countable)and less than (uncountable)
e.g. There are fewer people in Japan than there are in India. 

5. Double comparatives - The more ..., the more... e.g Dr. Hakuta’s research among Hispanic children in the United States indicates that the more the children use both Spanish and English , the greater their intellectual advantage in skills underlying reading ability and nonverbal logic.
6. Verbs are replaced by ‘do’
e.g. The boys play as the girls play. 
        The boys play as the girls do.
e.g. Dirt roads cost twice as much to maintain as paved roads cost.
       Dirt roads cost twice as much to maintain as paved roads do
French wines taste better than Australian wines. (Incorrect)
French wines taste better than Australian wines do. (Correct)
French wines taste better than Australian wines taste. (Correct)
French wines taste better than do Australian wines. (Correct)
7. Un-referred pronouns can come first ( Check the subject-verb agreement!
E.g. Compared to that of the ancient Greeks, the literature of today’s Greeks is not worth describing.
3. Absolute phrase - modifiers
1. Participle phrase. E.g.  Teeth chattering, we waited for hours in the bitter cold. 

2. Expanded participle phrase. E.g. Sails flapping in the brisk morning breeze, the boat tugged at its mooring.

3. Absolute phrases in succession E.g. Hair golden, body slender and tanned, he personified the California look.

4. an absolute phrase at the beginning of a sentence or at the end, with a comma. 

5. an absolute phrase in the middle. The speaker, his voice trembling with rage, denounced the hecklers

6. Noun and adjective. E.g. Muscles taut, he hefted the barbells to his chest.
7. Noun and adjective phrase - She waved to the crowd, her face radiant with triumph. 

8. Noun and adverb - Shoulders hunched, Ronaldo zigzagged past the linebacker.

9. Noun and adverb phrase. E.g. Ram sat back comfortable, feet up on the desk
4. Squinting Modifiers
creates ambiguity
E.g. The sight of teenagers hitting each other violently upset an elderly couple.
Edited A - The sight of teenagers violently hitting each other upset an elderly couple.
Edited B - The sight of teenagers hitting each other upset an elderly couple violently.
5. Dangling Modifiers
wrong doer
E.g. Listening to the sad news, my eyes filled with tears.
Edited A - Listening to the sad news, I felt my eyes filled with tears.
Edited B- As I listened to the sad news, my eyes filled with tears.
6. Parallelism
1. List. E.g. She was a personality before she became a person – she was simple, complex, generous, selfish, unattractive, beautiful, lazy, and driven.
E.g. … could mean less lending by commercial banks to developing countries and increased pressure on lenders.
2. Series (matching phrases). E.g. A fool’s brain digests philosophy into folly, science into superstition, and art into pedantry.
3. Contrast. E.g. They marched slowly but steadily.
4. Series plus contrast. E.g. Rather than love, than money, than fame, give me truth.

5. Choice (2 clauses). E.g. We can repair the roof now, or we can replace the entire house in a year.
6. Statement of equivalence  E.g. A life without festivities is a long road without inns.

7. Classification / Definition. E.g. Economy is the art of making the most of life.
8. Statement of Evaluation E.g. For most men the love of justice is only the fear of suffering injustice.
9. Comparison.  E.g. Walking in dust can be more rewarding than sitting on silk.
1. Using Correlatives with Parallelism

11. Both…..and

12. Not only…..but also

13. Either…..or

14. Neither …..nor

15. Whether …..or
16. X is to a, b and c (to need not be repeated)
2. When two adjectives modify the same noun, they should have similar forms. 
e.g. Incorrect - Brenda treated the patient swiftly and calm. Correct - Brenda treated the patient swiftly and calmly.

3. When a series of clauses is listed, the verbs in each clause must have the same form. 
e.g. Incorrect - On sunny days many like to skate on the village pond or sledding on Mount Knox.
Correct - On sunny days many like to skating on the village pond or sledding on Mount Knox.
OR Correct - On sunny days many like to skate on the village pond or to sled on Mount Knox.

4. Both halves of a sentence should have the same structure. 
e.g. Incorrect - To acknowledge Divine wisdom is taking the first step to nirvana.
Correct - Acknowledging Divine wisdom is taking the first step to nirvana.
Correct - To acknowledge Divine wisdom is to take the first step to nirvana.
5. Some words does not repeat in parallels: to, have, be (for subjunctive), pronouns (he/she)
6. Some words may or may not be repeated: would

7. Some words repeat in parallels: an article an, the, from, of
8. Both sections must be in passive

7. Subject Verb agreement
1. Compound subjects 
a. connected by "and" - plural verb.e.g Gold and silver are precious metals.

b. the subjects are joined by “nor” or “or,” the verb agrees with the subject closer to the verb i.e (the last one)
Neither Peter's relatives nor his wife agrees with his decision.
Neither Peter's wife nor his relatives agree with his decision.
2. "Doesn't" / "does not" - singular subject. "Don't" / "do not" - plural subject. exception to this rule  "I " and "you" 

3. Intervening phrases and clauses . e.g.  One of the books is costly. The people who appreciate art are many.
4. The indefinite pronouns require a singular verb. e.g. Each of these recipes is delicious.
5. Plural indefinite pronouns require a plural verb. e.g Many of the riders were skinny, bold boys.
6. A noun meaning one thing is always third -person singular, even if it ends in -s: The news was shattering.
Note: When talking about an amount of money, the word "dollars" requires a singular verb, but when referring to the dollars themselves, a plural verb is required.

7. In sentences starting with there or here, the subject follows the verb. e.g There were three cars outside the office.

8. Collective nouns are singular when they refer to a unit and plural when they refer to the individuals or elements of a unit. E.g. The committee meets every Friday evening.
9. The number of modified noun and pronoun depends on the noun or pronoun itself--- not on the modifiers attached to it E.g. The clouds that hovered over Delhi were thick.
10. Pronouns variable in number include all, any, many, more, most, some ,that, which and who. The number of these pronouns depend on the number of the word or phrase to which they refer. e.g Some of the ice was melting.

11. The phrase introduced by as well as or along with will modify the earlier word (chief in this case), but it does not compound the subjects (as the word and would do). E.g. The chief as well as his supporters is going to prison. The chief and his supporters are going to jail.

a. together with - singular
b. as well as - singular
c. along with  - singular
8. Passive Voice
Active Voice generally used 

Passive Voice is generally avoided and it is used when:

· Subject of the sentence is indefinite, general, or unimportant.
E.g. They mine coal in Pennysylvania. (Poor) Coal is mined in Pennysylvania. (Better)
· When what was done is more important than doer of the action – based on what the writer wants to emphasise
E.g. America was discovered by Columbus. (Passive) Columbus discovered America. (Active)
9. Ambiguous Pronoun
10. Subordinate Clause
Subordinate Clause will begin with a subordinate conjunction or a relative pronoun and will contain both a subject and a verb. This combination of words will not form a complete sentence.
Subordinate conjunctions are needed to start the sentence. They are:
after ,although ,as ,because ,before ,even if ,even though ,if ,in order that, once ,provided that ,rather than ,since ,so that ,than ,that ,though ,unless, until ,when ,whenever ,where ,whereas ,wherever ,whether ,while ,why 
Relative Pronouns are needed to start the sentence. They are:
that, which, whichever, who, whoever, whom, whose, whosever, whomever
11. Participial adjectives
-ing (present participle): cause of the feeling.  E.g. The drink was refreshing.

-ed (past participle): receiver of the feeling. E.g. I feel refreshed.
12. Pronoun – Subject and Object form
Subject form: after than, as or linking verbs (was)
object form: after except, no one but 
Relative pronoun: usage
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Punctuation
1. Using a colon ‘ : ’    LESTQ
· List. E.g. Her house has four rooms: a kitchen, a parlor, a bedroom, and a bath-room.

· example E.g. The miser had only one desire: to see his gold coins.

· quotation 

· salutation in a formal letter
· time of day shown in numerals


WRONG USE:
· After such as or including E.g. All of the old gang were there, including : Mush Head, Beaver, Sparky, and Mole

· Directly after a form of verb. E.g. The three most popular composers of classical music, according to the poll, are : Bach, Mozart, and Beethoven.- Incorrect colon use

· Between a verb and its object or between a preposition and its object. E.g. The tourists went to: Toronto, Montreal, and Quebec
2. Using a semicolon ‘ ; ’
· To join two independent clauses that are closely related in meaning.  E.g. Some visitors thrive on activities; others seldom leave the lounge.
· To join two independent clauses when the second begins with or includes a conjunctive adverb, such as however, for example, or in addition E.g. Everyone agrees that nuclear warfare is horrible; several nations, however, continue to manufacture nuclear weapons.
· To separate main clauses linked by a conjunction if commas appear in the clauses.  E.g. Early in the play, Samson, tormented by his bondage to the Phillistines, his blindness, and his fall from glory, laments his condition; but he is careful to blame himself, not God.

· Between items in a series when one or more of the items include commas  E.g. The furniture consisted of a bed, with four large, shapeless pillows; five matching wooden chairs with upright backs; and a corner cupboard imported from Bristol, England.


WRONG USE:
· Between a phrase and the clause to which it belongs. E.g. We tinkered with the wiring of the loudspeakers; to increase the volume 

· Between a subordinate clause and the main clause. E.g. Even though I was exhausted; I listened to his complaints for two hours

Common Errors
1. Double Negatives
· Scarcely nothing is wrong. ‘had not any’ is wrong
Scarcely anything is correct. ‘had none’ / ‘had no’ is correct
2. Subjunctive and normal verbs
3. relative pronoun vs. participle
4. Noun and verbs
Creating a noun from verb by adding an article ‘the’, ‘a’, ‘an’: the silence and the splitting, a lowering and an increase
Creating a noun with adjectives and verbs: less lending and increased pressure

5. ‘Since’ uses present perfect tense
E.g. … to find out whether the painting has been altered since Leonardo painted it.
6. Parallelism are not always the same
- continuation 
- check the subject
E.g. Among lower- paid workers, union members are less likely than non union members to be enrolled in lower- end insurance plans that impose stricter limits on medical services and require doctors to see more patients, spending less time with each.
7. Be careful of it
- ambiguous pronoun
- antecedent
- for time/weather
8. Infinitives to avoid
to implement is wrong. Implementing is correct.
to include is wrong. Including is correct.

9. Avoid this sentence construction
preposition + noun + participle
e.g. with extensions included

10. Misplaced modifiers
You can change a misplaced modifier into a legal sentence by changing a phrase into a clause.
While leaving the bank, Evelyn’s purse was stolen. (Incorrect, underlined portion is a phrase)
As she was leaving the bank, Evelyn’s purse was stolen. (Correct, underlined portion is a clause)
11. hopefully
the word hopefully is almost always wrong in GMAT
12. having
having + past participle
13. Strategy
Whenever we have two options that are both grammatically correct, and the only difference is meaning, we MUST go with the original meaning.
14. verb –be
NOUN + BE-verb + NOUN/ADJECTIVE
The change was good for me. (Correct)
The change was when I came to the U.S. (Incorrect)
Use “changed occurred” instead.
15. nor  might not be preceded by neither
E.g. X is known nor it is unknown
16. from past to present
it has and will continue to + (verb) is wrong
it has continued to + (verb)  is correct

17. be careful of by
- by a person
- not by something inanimate belonging to a person

E.g. The players were often punished by the referee’s lack of alertness who penalized all those who were involved in fighting, regardless of who had instigated it. 

(A) The players were often punished by the referee’s lack of alertness who penalized 

(B) The referee’s lack of alertness often caused him to penalize 

(C) The players were punished by the lack of alertness of the referee who penalized often 

(D) Lacking alertness, the referee’s choice was to penalize often 

(E) His lack of alertness to brutality often caused the referee to penalize 
18. non-referent pronouns at the start are sometime ok
E.g. Although she has recently published a series of science fiction books influenced by Sufism, Doris Lessing is likely to be remembered best for her early novels about Africa.
19. look out for as + adjective
Henrik Ibsen’s plays posed as great a challenge to middle-class Scandinavians’ expectations of the drama as, almost a century later, Edward Albee would offer to theatre goers in America.
20. look out for more/less +… + than
Henrik Ibsen’s

2. GMAT Verbal – Critical Reasoning
Directions
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Timing and Structure

14 to 15 questions in the Verbal Section 

25 minutes

1-2min/Question

Basic Principles

Argument has 2 main parts: 
1. Evidence/Premise/Assumptions
2. Claim / Conclusion
In an Inductive argument, the author presents evidence or reasons for the conclusion. The validity of the conclusion depends on how compelling the evidence is.
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Some test fallacies:
1. Explanations identify the wrong cause
E.g. There were more air traffic fatalities in 1979 than there were in 1969; therefore, the airplanes used in 1979 were more dangerous than those used in 1969.

2. False analogy – conclusion drawn from one situation is applied to another different situation
E.g. People should have to be licensed before they are allowed to have children. After all, we require people who operate automobiles to be licensed.
3. Hasty Generalisation
E.g. All four times I have visited Chicago it has rained; therefore, Chicago probably gets very little sunshine.
4. Ambiguous Terms
E.g. Shark --> The shark has been around for millions of years. The City Aquarium has a shark. Therefore, the City Aquarium has at least one animal that is millions of years old.
5. Irrelevant Evidence
E.g. Frederick must be the best choice for chair because most people believe that he is the best person for the job.
6. Circular Arguments
E.g. Beethoven was the greatest composer of all time, because he wrote the greatest music of any composer, and the one who composes the greatest music must be the greatest composer.
7. Personal Attack
E.g. Professor Peters’s analysis of the economic impact of the proposed sports arena for the Blue Birds should be rejected, because Professor Peters is a fan of the Red Birds—the most fierce rivals of the Blue Birds.
Conclusions are stated:
· In the beginning / the end / the middle

· as a rhetorical

· as a question
Logic Diagramming
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Common Question Types
1. Assumption 

· Causal Assumption – ask yourself whether there might be an alternate cause (effect-cause)

· Analogy Assumption – ask yourself whether the 2 situations are analogous (2 situations)

· Statistical Assumption – ask yourself whether the statistics are representative (numbers)

2. Strengthen the Argument 

3. Weaken the Argument 

4. Inference question

5. Mimic the reasoning

6. Resolve the paradox

7. Evaluate the argument

8. Identify the reasoning

Common Examples

1. Assumption Question

1. Which of the following is an assumption on which the argument depends?

2. The argument above assumes which of the following?

3. The claim above rests on the questionable presumption that…

4. Which of the following is assumed by the author?

5. Upon which one of the following assumptions does the author rely?

6. Which one of the following if added to the paragraph will make the conclusion logical?

7. The validity of the argument depends on which of the following?

8. The argument presupposes which one of the following?

2. Strengthen Question

1. Which of the following if true strengths the author’s argument?

2. Which of the following if true, most strongly supports the author’s hypothesis?

3. … would be more persuasive if one of the following were found to be true?

3. Weaken Questions

1. … most seriously weakens the conclusion?

2. … indicates a flaw in the reasoning above?

3. … cast the most serious doubt on the argument above?

4. … would seriously damage the argument above?

5. … is the most serious criticism …?

6. … describes what might be a questionable technique employed by the pollsters in drawing their conclusions?

4. Inference Questions

1. … can be inferred from the information above?

2. … must be true on the basis of the statements above?

3. … following conclusions best supported by the passage?

4. … conclusions could most properly be drawn from the information above?

5. Mimic the reasoning Questions

1. Which of the following closely parallels the reasoning used in the argument above?

2. Which of the following supports its conclusion in the same manner as the argument above?

3. Which of the following is most like the argument above in it logical structure?

6. Resolve the paradox Questions

1. … if true, resolves the apparent contradiction presented in the passage above?

2. … if true best explains the discrepancy described above?

3. … if true, forms a particle explanation for the paradox explained above?

7. Evaluate the argument questions

1. The answer to which of the following questions would be most useful in evaluating the significance of the author’s claims?

2. Which of the following pieces of information would be most useful in assessing the logic of the argument presented above?

8. Identify the reasoning Questions

1. The bolded phrase plays which of the following roles in the argument above?

2. The argument uses which of the following methods of reasoning?

3. GMAT Verbal – Reading Comprehension

Directions
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Timing and Structure

14 to 15 questions in the Verbal Section 

25 minutes

1-2min/Question

Basic Principles

3 Types of passages:

1. Social Science

2. Science

3. Business

3 ways of writing the passage:

- Hypothesis stated and then analysed
- Proposal evaluated and alternatives explored

- Viewpoint set forth and then subsequently defended

Common Question Types
1. Global

· What is the primary purpose of this passage?

· What is the author’s tone?

· Which of the following best describes the structure of the passage?

2. Inference

· It can be inferred from the passage that…

· The passage/author suggests/implies that…

· The passage supports which on of the following statements regarding

· With which one of the following statements would the author most likely agree?

3. Logic 

4. Detail

· Line Number - The passage suggests which of the following about the … mentioned in line 12?

· Lead Word - According to the passage…. might be expected to find which of the following?

4. GMAT Verbal – Sentence Correction

Directions
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Timing and Structure

14 to 15 questions in the Verbal Section 

25 minutes

1-2min/Question
Methods

1. Keep the argument between subject and verb
2. Keep a modifier as close as possible to the word or clause that it modifies

3. A pronoun must agree with its antecedent and refer to only one antecedent
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4. Verb tense reflects the sequence of events

5. Keep similar events in a sentence parallel
6. Compare like things only

7. Idioms

8. Quantity words for 2 or many

Common Errors

1. Subject-Verb agreement  

2. Misplaced modifiers – Adjectives, Adverb, commas

3. Pronoun Errors – Pronoun reference & Pronoun numbers  

4. Tense  

5. Parallel Construction

6. Compare like things only

7. Idiom

8. Quantity words
5. GMAT Verbal – Analytical Writing

Directions
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Timing and Structure

1 Question on Argument

1 Question on Issue 

30 min /Question = 5 min plan, 20 min typing, 5 min proof reading

Methods

1. Good organization

2. Proper diction

3. Noteworthy vocabulary

4. Sentence variety

5. Length

6. Number of paragraphs

Common Question Types
Analysis of an Issue
1. Introduction: State both sides and your decision

2. Body 1: Acknowledge the argument in favor of the other side

3. Body 2: Rebut each of these arguments

4. Conclusion

Issue Topics:

1. Government and Citizen

2. Environment

3. Employee and Business

4. Business and Government

5. Business and organization and profits

Analysis of an Argument
1. Introduction: State conclusion with the evidence

2. Body 1: Identify the assumptions

3. Body 2: Provide the gaps needed

4. Conclusion

6. GMAT Math

Directions
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Timing and Structure

37 questions in the Math Section 

75 minutes

2 min/question
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Methods
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Data Sufficiency: A(D  /  B(C(E
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Common Mistakes
Lessons…

1. Solving Equations: even power: 2 solutions, odd power: one solution
2. When a problem asks a ‘yes’ or ‘no’ the answer can be no. If it always gives us the same answer: always yes or always no, then the statement is sufficient. If the answer is sometimes yes and sometimes no, the statement is insufficient. 

3. Some ‘yes’ or ‘no’ question can be a choice. Eg. Which sports unity has a higher list price, the T or L?

4. When reading question ask:
a. What quantity? E.g. Speed, distance, number, price

b. What time frame? E.g. Last month, one week
c. Which part? first/ last? of all the unsold seats, which seats are blue?
d. What number? E.g. Total, lesser, greater, difference

e. What unit? E.g. Month, miles per hour, number of cups

f. What answer? Y/N or direct answer?

5. Look out for key words:

· Positive-Negative

· Odd-Even-Consecutive

· Integer-Fraction- zero
6. Think of HCF and LCM when talking about multiples and factors.

7. A and B’s dog, C weighs = just C … look at the verb to avoid confusion! 

8. some questions are simpler than it looks – diagrammatic estimation is all that is needed

9. For averages (arithmetic mean), the higher can be achieved in the last numbers… don’t assume!
10. Inequality involving (-) numbers involves reversing the inequality sign!

11. 2z = x ratio of z:x is 1:2 

12. Inverse proportion – Gear and revolution, Men and days working
13. Draw a number line with -1, 0, 1

14. Types of answers for Data Sufficiency questions

· Yes/No

· Range

· Exact Value

15. Don’t cancel variable on both sides of the equation. Always cross multiply!
E.g. 
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 If y is positive, 1/x > 1. If y is negative, 1/x < 1.
Always cross multiply! ( y – yx > 0

16. Payments and loans – take note of the time period.
· Semi-annually

· Quarterly
· $x for each 8 hour shift

17. Fractions – take note of the total number (e.g. conditional probability). 
E.g. What percentage of full timers are men?

18. Solving equations with 2 unknowns. Test out some variables first! Don’t always assume that it is unsolvable!
e.g. 73 = 21p + 5n,  e.g. 5 = 2y-1 + 5y-x+1
19. Don’t be afraid to have an answer as 0
E.g. What is p? (1) p=4q, (2) q=4p

20. Percentage and fractions in relation to another quantity.
E.g. A’s income is X% more/less than B ( Take B as the reference (100%).

A:




B: 

E.g. A is ½ of B ( Take B as the whole 1.
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A:




B: 
21. Don’t always assume whole number / integer
E.g. is x3 equal to 125?
(1) x>4

(2) x<6

Answer: (E) 4 < x < 6 = 4.1 ≤ x ≤ 5.9 
22. Count the zeros for any careless addition/subtraction of zeros
23. Length of a side of Rectangle does not always mean the longer side of the rectangle. 
E.g. The edges of the aquarium have lengths of 60, 42 and 30 cm. 
This does not mean length =60cm, breadth = 42cm and height = 30cm.
Notice the difference: 
- Length of a side of the rectangle … either length or breadth
- Length of the rectangle … only length
- dimensions of the box is 24 by 34 by 36 cm. 
24. Simplify all complex equations given in the question.
E.g. 
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 = a(b+c) > b(a+c) = a > b
25. Average of what quantity? E.g. Average attendance per game = people / game
26. Be careful of complement questions: How many integers between 100 and 150, inclusive, can be evenly divided by neither 3 nor 5?
27. Be careful of probability questions saying only A or only B.
only A = P(AnB’)
28. take note of the instructions ‘different integer’

29. the question sometimes doesn’t ask for the answer, but for the Number of answers possible.
E.g. If the sum of four consecutive positive integers a three digit multiple of 50, the mean of the these integers must be one of x possible values, where x=
30. Distinguish between a number and the digits of that number. E.g. x is a number. x = 25. the digits are 2 and 5. 
E.g. For a three-digit number xyz, where x, y, and z are the digits of the number, the function f(xyz) = 5x2y3z. If f(abc) = 3 * f(def), what is the value of abc - def? 
(A) 1

(B) 2
(C) 3
(D) 9
(E) 27

Basic Principles - Arithmetic

Counting/Natural Number 1, 2, 3, 4…
Whole Numbers 0, 1, 2, 3, 4…
Integer …-4, -3, -2, -1, 0, 1, 2, 3, 4…

Positive Integers 1, 2, 3, 4…  (0 is neither positive nor negative) 
Negative Integers …-4, -3, -2, -1   (0 is neither positive nor negative)
Odd Integers ... −5, −3, −1, 1, 3, 5, ... only integers can be odd. Fractions cannot be odd
Even Integers. −4, −2, 0, 2, 4, ( 0 is an even integer. Only integers can be even. Fractions cannot be even
Properties of one 

· 1*n=n

· 
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Properties of zero

· n + 0 = n

· n*0 = 0

· n/0 = undefined = ∞
Larger integer always has a positive difference with a smaller integer. 

E.g. If K > L, the difference K – L is positive.

Real Numbers a point on a number line and they include both rational and irrational numbers.

Some common definitions…

· 0 or a fraction is neither positive integer nor negative integer
· x and y are integers if xy is integer and (x+y) is integer
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· 5a > 4a
it is true if a>0
it is false if a = 0 or a<0
· x+y<0
if y>0, x<-y
if y<0, x<y
if y=0, x<0

Consecutive Integers are listed in order of increasing size without any integers missing in between

Distinct Numbers are 2 numbers and they cannot be equal


Prime Numbers 
· 2 is smallest and only even prime number.
· 0 and 1 are not prime numbers. 
· All prime numbers are positive. 
· If n has exactly 2 positive factors, then n is a prime number. The factors are 1 and n.
· If n2 has exactly 3 positive factors, then n is a prime number. The factors are 1, n and n2
· if pq has 4 factors only, then p and q are both prime numbers. The factors are 1, p, q and pq
	Divisibility
	Divisibility Rules

	2
	Units digit can be divided by 2

	3
	Sum of the digits can be divided by 3

	4
	Last 2 digits can be divided by 4

	5
	Units digit is either 5 or 0

	6
	Even and divisible by 3 (Sum of the digits can be divided by 3)

	8
	Last 3 digits can be divided by 8

	9
	Sum of the digits can be divided by 9

	12
	Sum of digits is multiple of 3, last two digits multiple of 4.



	Symbol
	Meaning

	|  |
	Absolute

	=
	Is equal to

	≠
	Is not equal to

	>
	Is greater than

	<
	Is less than

	≥
	Is greater than or equal to

	≤
	Is less than or equal to


Modulus describes the absolute difference between 2 numbers

· |x| = ± x 
· distance from A to B = |A – B|

·     |a – b| + |c – d| 
=  (a – b) + (c – d)
= -(a – b) + (c – d)
=  (a – b) - (c – d)
= -(a – b) + (c – d)

· 
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 is equivalent of stating x = |x|

· if x-y = 2, then x>y 


Factor is a whole number which divides exactly into a whole number, leaving no remainder.
· e.g. 30 = 1,2,3,5,6,10,15,30. From 1 to the number itself. From all prime factors to their composites
· all positive integer share 1 common factor = 1

· Total number of factors for p1a*p2b*p3c ( (a+1)(b+1)(c+1) where p1, p2 & p3 are prime numbers
· for a perfect square and distinct prime factors, their powers are even
E.g. p1a2 p2b2 p3c2
· for a perfect square whose powers are not even, their exponents are complemented and their factors are not distinct prime factors
E.g. 31*35
· if 
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 and are factorised into prime factors
the total number of  factors = (q1+1)(q2+2)… (qk+1)
if n is odd, then  p1 is not 2. The total number of factors for 2n = 2* (q1+1)(q2+2)… (qk+1)
if n is even, then p1 is 2. The total number of factors for 2n = (q1+2)(q2+2)… (qk+1)
Multiples 
· e.g. Multiples of 3: …-6, -3, 3, 6, 9… = 3M, where M is a whole number
· Evenly divisible mean the resultant is always a whole number

Chinese Remainder Theorem a = nM + r, where a is any integer, n is the divider, M is an integer, r is remainder 0 ≤ r < n
· if n = 3M + 2 and n = 5N + 2
then n = 15K + 2 ( the remainder is same
Lowest Common Multiple (LCM)

Highest Common Factor (HCF) = Greatest Common Divisor (GCD):

E.g. 
GCD/HCF of 16 and 21 is 1 (non-prime, uncommon factors)


GCD/HCF of 17 and 23 is 1 (prime, uncommon factors)


GCD/HCF of 16 and 12 is 4 (non-prime, common factors)

Associative Law - you can group numbers in any way without changing the answer.   
a + (b + c) =( b + c) + a

Distributive Law - you can change the order of the numbers involved without. a(b+c) = ab + ac
Commutative Law - you can swap numbers over and still get the same answer when you add, or when you multiply.
	
	Associative
	Distributive
	Commutative

	Addition
	Yes
	No
	Yes

	Subtraction
	No
	No
	No

	Multiplication
	Yes
	Yes
	Yes

	Division
	
	Yes
	No


Fractions 
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· Lowest possible = lowest / highest 
( lower/constant = lower
( higher/constant = higher
( constant/lower = higher
( constant/higher = lower
( lower/lower = lower
( higher/higher = higher
( higher/lower = higher
( lower/higher = lower
· Highest possible = highest / lowest ( higher/lower = higher
· 
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Proportions is another way of expressing fractions
· Direct Proportion 
a α b ( a=k1 b = k1 k2 c
b α c ( b=k2 c 
· Inverse Proportion – Men and working days/hours
a, b, c are working days/hours
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· Inverse Proportion – Gear
A gear 50 inches in diameter turns a smaller gear 30 inches in diameter. If the larger gear makes 15 revolutions, how many revolutions does the smaller gear make in that time?
50: 30 = x : 15
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· Convert Inverse proportion ( Direction proportion
E.g. 1 person ( x days, 2 person ( x/2 days
1 person ( x days
( 1 job
1 person ( 1 day 
( 1/x of the job 



Ratio can be expressed as a fraction and vice versa 
· = (p1) / (p2) = p1 : p2
· Ratio increased by k = (k p1) / (p2) =  k p1 : p2
Decimal Places
· Thousands, Hundreds, Tends, Ones/Unites, <decimal point>, Tenths, Hundredths, Thousandths
Percentage is just a fraction in which the denominator is always equal to 100.
Perfect Square and Perfect Cubes
· (-x)3 = -x3
· (-x)2 = x2 for any integer / fraction 
· -x2 = x2 only if x=0

2^1 = 2
2^2 = 4
2^3 = 8
2^4 = 16

2^5 = 32
2^6 = 64
2^7 = 128
2^8 = 256
	N
	^2
	^3
	N
	^2
	^3
	
	N
	^2
	N
	^2
	N
	^2

	1
	1
	1
	6
	36
	216
	
	11
	121
	16
	256
	21
	441

	2
	4
	8
	7
	49
	343
	
	12
	144
	17
	289
	22
	484

	3
	9
	27
	8
	64
	512
	
	13
	169
	18
	324
	23
	529

	4
	16
	64
	9
	81
	729
	
	14
	196
	19
	361
	24
	576

	5
	25
	125
	10
	100
	1000
	
	15
	225
	20
	400
	25
	625


Factorials

0! = 1, 1! = 1, 2! = 2, 3! = 6, 4! = 24, 5! = 120, 6! = 720, 7!  = 5,040, 8! = 40,320
Some Common Fractions and Decimals
	Fractions
	Decimals
	Fractions
	Decimals
	Fractions
	Decimals

	½
	0.5
	1/10
	0.1
	1/100
	0.01

	1/3
	0.33333…
	1/5
	0.2
	1/5
	0.02

	¼
	0.25
	2/5
	0.4
	1/25
	0.04

	1/5
	0.2
	1/2
	0.5
	1/20
	0.05

	1/6
	0.16667
	3/5
	0.6
	3/50
	0.06

	1/8
	0.125
	4/5
	0.8
	2/25
	0.08


Some Percentages and Fractions


Multiplication Table

	6 × 1 = 6 


	6 × 2 = 12 


	6 × 3 = 18 


	6 × 4 = 24 


	6 × 5 = 30 


	6 × 6 = 36 



	
	7 × 1 = 7 

7 × 2 = 14 

7 × 3 = 21 

7 × 4 = 28 

7 × 5 = 35 

7 × 6 = 42 

7 × 7 = 49 


	8 × 1 = 8 

8 × 2 = 16 

8 × 3 = 24 

8 × 4 = 32 

8 × 5 = 40 

8 × 6 = 48 

8 × 7 = 56 

8 × 8 = 64 


	9 × 1 = 9 

9 × 2 = 18 

9 × 3 = 27 

9 × 4 = 36 

9 × 5 = 45 

9 × 6 = 54 

9 × 7 = 63 

9 × 8 = 72 

9 × 9 = 81 


	10 × 1 = 10 

10 × 2 = 20 

10 × 3 = 30 

10 × 4 = 40 

10 × 5 = 50 

10 × 6 = 60 

10 × 7 = 70 

10 × 8 = 80 

10 × 9 = 90 

10 × 10 = 100 



	11 × 1 = 11 

11 × 2 = 22 

11 × 3 = 33 

11 × 4 = 44 

11 × 5 = 55 

11 × 6 = 66 

11 × 7 = 77 

11 × 8 = 88 

11 × 9 = 99 

11 × 10 = 110 

11 × 11 = 121 


	12 × 1 = 12 

12 × 2 = 24 

12 × 3 = 36 

12 × 4 = 48 

12 × 5 = 60 

12 × 6 = 72 

12 × 7 = 84 

12 × 8 = 96 

12 × 9 = 108 

12 × 10 = 120 

12 × 11 = 132 

12 × 12 = 144 


	13 × 1 = 13 

13 × 2 = 26 

13 × 3 = 39 

13 × 4 = 52 

13 × 5 = 65 

13 × 6 = 78 

13 × 7 = 91 

13 × 8 = 104 

13 × 9 = 117 

13 × 10 = 130 

13 × 11 = 143 

13 × 12 = 156 

13 × 13 = 169 


	14 × 1 = 14 

14 × 2 = 28 

14 × 3 = 42 

14 × 4 = 56 

14 × 5 = 70 

14 × 6 = 84 

14 × 7 = 98 

14 × 8 = 112 

14 × 9 = 126 

14 × 10 = 140 

14 × 11 = 154 

14 × 12 = 168 

14 × 13 = 182 

14 × 14 = 196 


	15 × 1 = 15 

15 × 2 = 30 

15 × 3 = 45 

15 × 4 = 60 

15 × 5 = 75 

15 × 6 = 90 

15 × 7 = 105 

15 × 8 = 120 

15 × 9 = 135 

15 × 10 = 150 

15 × 11 = 165 

15 × 12 = 180 

15 × 13 = 195 

15 × 14 = 210 

15 × 15 = 225 



	16 × 1 = 16 

16 × 2 = 32 

16 × 3 = 48 

16 × 4 = 64 

16 × 5 = 80 

16 × 6 = 96 

16 × 7 = 112 

16 × 8 = 128 

16 × 9 = 144 

16 × 10 = 160 

16 × 11 = 176 

16 × 12 = 192 

16 × 13 = 208 

16 × 14 = 224 

16 × 15 = 240 

16 × 16 = 256 


	17 × 1 = 17 

17 × 2 = 34 

17 × 3 = 51 

17 × 4 = 68 

17 × 5 = 85 

17 × 6 = 102 

17 × 7 = 119 

17 × 8 = 136 

17 × 9 = 153 

17 × 10 = 170 

17 × 11 = 187 

17 × 12 = 204 

17 × 13 = 221 

17 × 14 = 238 

17 × 15 = 255 

17 × 16 = 272 

17 × 17 = 289 


	18 × 1 = 18 

18 × 2 = 36 

18 × 3 = 54 

18 × 4 = 72 

18 × 5 = 90 

18 × 6 = 108 

18 × 7 = 126 

18 × 8 = 144 

18 × 9 = 162 

18 × 10 = 180 

18 × 11 = 198 

18 × 12 = 216 

18 × 13 = 234 

18 × 14 = 252 

18 × 15 = 270 

18 × 16 = 288 

18 × 17 = 306 

18 × 18 = 324 


	19 × 1 = 19 

19 × 2 = 38 

19 × 3 = 57 

19 × 4 = 76 

19 × 5 = 95 

19 × 6 = 114 

19 × 7 = 133 

19 × 8 = 152 

19 × 9 = 171 

19 × 10 = 190 

19 × 11 = 209 

19 × 12 = 228 

19 × 13 = 247 

19 × 14 = 266 

19 × 15 = 285 

19 × 16 = 304 

19 × 17 = 323 

19 × 18 = 342 

19 × 19 = 361 


	20 × 1 = 20 

20 × 2 = 40 

20 × 3 = 60 

20 × 4 = 80 

20 × 5 = 100 

20 × 6 = 120 

20 × 7 = 140 

20 × 8 = 160 

20 × 9 = 180 

20 × 10 = 200 

20 × 11 = 220 

20 × 12 = 240 

20 × 13 = 260 

20 × 14 = 280 

20 × 15 = 300 

20 × 16 = 320 

20 × 17 = 340 

20 × 18 = 360 

20 × 19 = 380 

20 × 20 = 400 






Compound interest is calculated each period on the original principal and all interest accumulated during past periods. 
(final balance) = 
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C = the number of times compounded annually
Simple Compounding A = P(1 + r)^n

A = amount accumulated

P = principal

r = annual rate of interest

n = number of years
Simple Interest is calculated on the original principal only =  principal X interest rate X Time
Compounded monthly 12 times per year with I/12 interest rate
Compounded quarterly 4 times per year with I/4 interest rate
Compounded semi-annually 2 times per year with I/2 interest rate
Compounded annually, 1 time per year with I interest rate

Semi – half, Bi – twice

Average (arithmetic mean) 
· If mean = maximum, then all values are equal and SD is 0

Mode in a set of numbers is the number that occurs most frequently. It can occur more than 1 times.
Median (in odd set) 
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Median (in even set) 
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· For a given set of consecutive even numbers mean = median
· For a given set of consecutive odd integers median = mean
· For set of consecutive integers = (first + last)/2
Range of a set of numbers is the difference between the smallest and the largest number.
· If range or SD = 0, then all numbers are the same

· If the range is 0, then the SD must also be 0, because there is no variance
Statistics
· Variance = 
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· Standard Deviation (SD)= 
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· For data with approximately the same mean, the greater the spread, the greater the SD.
· The more uneven members are dispersed around their arithmetic average, the more their SD
· For comparing the SD for two sets any information about mean ,median, mode and range are insufficient unless you can determine the individual terms from the given data
· different Mean can have the same SD
Normal Distribution All normal density curves satisfy the following property:

· 68% of the observations fall within 1σ of the mean, that is, between μ – σ and μ + σ.
· 95% of the observations fall within 2σ of the mean, that is, between μ – 2σ and μ + 2σ.
· 99.7% of the observations fall within 3σ of the mean, that is, between μ – 3σ and μ + 3σ.
· Almost all values lie within 3 standard deviations of the mean.

Exponents

· Multiplying number with the same base 
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· Diving numbers with the same base 
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· Raising a power to a power
[image: image22.wmf]y

x

y

x

a

a

´

=

=

)

(


· Distributing exponents
[image: image23.wmf]x

x

x

b

a

ab

´

=

=

)

(


· Negative exponents - 
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Strange powers:

· If you raise a positive fraction that is less than 1 to a power, the fraction gets smaller
· If you raise a negative number to an odd power, the number gets smaller
· If you raise a negative number to an even power, the number becomes positive.

· Any number to the first power = itself

· 
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· if 
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- a = any number, b=0
- a = 1, b = any number
- a = -1, b = even number
· if 
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Radicals

· Multiplication
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· Division
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· Simplification /factorization

· Square root of a positive fraction is larger than the original fraction

Probability A and B
1. P(A) + P(A’) = 1
2. P(AUB) = P(A) + P(B) – P(A∩B)
3. P(A’U B) = P(A’) +P(B) – P(A’ ∩ B)

4. P(AUB) = P(A) + P(B)  for mutually exclusive events
5. P(A ∩B) = P(A) P(B) for independent events

6. P(B) = P(A’ ∩ B) + P(A∩B) = only B + A intersect B
7. P(A' U B') = P(A ∩ B)'
8. P(A' ∩ B') = P(A U B)'
9. P(B|A) 
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Meanings:

· P(AUB) = P(A or B) = A union B
· P(A∩B) = P(A and B) = A intersect B
· P(A ∩ B)’ = neither A nor B
When total = P(AUB)

P(A) = x+z, only A = x
P(B) = y+z, only B = y
P(AUB) = x+y+z
P(A)+P(B) = x+y+2z

From P(AUB) = P(A) + P(B) – P(A∩B)
P(A∩B) = z = P(A) + P(B) - P(AUB)
Probability A and B and C


· For 3 sets A, B, and C: 
P(AuBuC) = P(A) + P(B) + P(C) – P(AnB) – P(AnC) – P(BnC) + P(AnBnC)

· No. of persons in exactly one set: 
P(A) + P(B) + P(C) – 2P(AnB) – 2P(AnC) – 2P(BnC) + 3P(AnBnC)

· No. of persons in exactly two of the sets: P(AnB) + P(AnC) + P(BnC) – 3P(AnBnC)

· No. of persons in exactly three of the sets: P(AnBnC)

· No. of persons in two or more sets: P(AnB) + P(AnC) + P(BnC) – 2P(AnBnC)
· No. of persons in at least one set: 
P(A) + P(B) + P(C) - P(AnB) - P(AnC) - P(BnC) + 2 P(AnBnC) 
P(AuBuC) + P(AnBnC) 
Linear Optimization
Units

· 4 quarts 
= 1 Gallon

· 2000 pounds 
= 1 short ton
· 1 Ton 

= 1000kg

· 1 yard

= 3 Feet

· 16 ounces 
= 1 pound

· quarter

= 25 cents

· dime

= 10 cents

· nickel

= 5 cents

· penny

= 1 cent
· 12 inches
= 1 foot

Clock and degrees
· For minute hand, 1 minute ( 6 degrees
· For hour hand, 12 minutes ( 6 degrees

Calendar
· 365 days in non leap year ( 52 weeks + 1 day

· 366 days in Leap year ( 52 weeks + 2 days
· 30 Days – Sept, Apr, June, Nov

· 31 Days – Rest

· Exception - Feb

A pack of playing cards
· 52 cards – 4 groups (Clubs, Spade, Diamond, heart)

· 13 cards per groups ( Ace, King, Queen, Jack, 10, 9, 8, 7, 6, 5, 4, 3, 2

Basic Principles - Algebra

Solving Inequalities – If you multiply or divide both sides of an inequality by a negative number, the direction of the inequality symbol changes

1. If unequal quantities are added to unequal quantities of the same order, the result is unequal quantities in the same order. 
e.g. If a>b and c>d, then a + c > b+d

2. If equal quantities are added to, or subtracted from, unequal quantities, the results are unequal in the same order. 
e.g. If a>b  then a + c > b+ c

3. If unequal quantities are subtracted from equal quantities, the results are unequal in the opposite order. 
e.g. If a>b  then c - a < c - b

4. Doubles or halves of unequals are unequal in the same order. 
e.g. If a>b  then 2a > 2b  and 0.5a > 0.5b

5. If the first of three quantities is greater than the second, and the second is greater than the third, then the first is greater than the third.
e.g. if a>b, b>c then a>c

6. The sum of two sides of a triangle must be greater than the third side.
a + b > c, b + c > a, a + c > b

7. If two sides of a triangle are unequal, the angles opposite these sides are unequal, with the greater angle opposite the greater side.

8. If two angles of a triangle are unequal, the sides opposite these angles are unequal, with the greater side opposite the greater angle.

9. An exterior angle of a triangle is greater than either remote interior angle. If unequal quantities are added to unequal quantities of the same order, the result is unequal quantities in the same order. 
10. The sign changes when multiplying both sides by -1
E.g. y/x > y. 
If y is positive, 1/x > 1. 
If y is negative, 1/x < 1.
Solving Simultaneous Equations add or subtract the equations so that one of the variables disappears

Solving Quadratic Equations

· (x + y)2 = x2 +2xy + y2
· (x + y)(x-y) = x2 – y2
· y = a(x-h)2 + k

· (h,k) is the turning point,  

· a>0 , a<0

· 
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· 
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· fish bone method

· Solution of equation ZERO
xy = 0
x = 0 or y = 0 ( x and y cannot be BOTH zero at the same time
if x = 0, then y ≠ 0
if y = 0, then x ≠ 0
· Solution of equation
Equation 1 ( x = ±5
Equation 2 ( x = 5 or 0
Solution taking both equations is x = 5
Common shapes of graph
1. Linear Graph: Y=mX + C
2. Quadratic Graph: Ax2 + Bx + C
3. Cubic Graph: Ax3 + Bx2 + Cx + D
4. Rectangular Hyperbola: 
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5. Diagonal Hyperbola: 
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6. Ellipse: 
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7. xy=a

Common graphical manipulations

1. y = f(x) ( y = f(x) + a
Translate curve in the direction of y-axis by a units

2. y = f(x) ( y = f(x-a)

Translate curve in the direction of x-axis by a units

3. y = f(x) ( y = a f(x)

Stretch (a>1) or Compress (a<1) curve in the direction of y-axis

4. y = f(x) ( y = f(ax)

Stretch (a<1) or Compress (a>1) curve in the direction of x-axis

5. y = f(x) ( y = - f(x)

Reflect curve about y-axis - (x,y) across the y-axis is the (-x,y).
6. y = f(x) ( y = f( -x)

Reflect curve about x-axis - (x,y) across the x-axis is the (x,-y).
7. The reflection of the point (x,y) across the line y = x is the point (y,x).

8. The reflection of the point (x,y) across the line y = -x is the point (-y,-x).

9. y = |f(x)|


where f(x)<0, the graph is a mirror reflection about the x-axis

10. y = f( |x| )


where    x <0, the graph is a mirror reflection about the y-axis
11. y = 1/f(x)


where f(x) = ±1, 1/f(x)= ±1, 
    



where f(x) = ±∞, 1/f(x)= ±0, 
  



where f(x) = ±0, 1/f(x)= ±∞ 
  



where f(x) is increasing, 1/f(x) is decreasing
  



where f(x) is at maximum, 1/f(x) is at minimum
Basic Principles – Applied Arithmetic

Speed X Time = Distance

· Average Speed
if speeds v1 and v2 have the SAME time period, then the average speed = 
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· Instantaneous speed ≠ average speed

· Relative speed.
E.g. A car A is 20 miles behind Car B, which is travelling in the same direction along the same route as Car A. Car A is travelling at a constant speed of 58 miles per hour and Car B is travelling at a constant speed of 50 miles per hour. How many hours will it take for Car A to overtake and drive 8 miles ahead of car B?
Relative speed of Car A = 58 – 50 = 8mph. Relative Distance = 20+8 = 28 miles.
Relative time = 28/8 = 3.5hours

Work Problems

If Sam can finish a job in 3 hours and Mark can finish a job in 12 hours, in how many hours could they finish the job if they worked on it together at their respective rates?
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Functions $ or # or * or Δ

Probability – 1 turn, 2 results


Probability – 2 turns, 1 result

Probability – one or another

Probability – Complement


Probability – At least one, with replacing/returning


Permutations – Single source, order matters    = n!
Circular Permutations (number of ways to arrange n distinct objects along a fixed circle) (n – 1)!
Permutations – Single source, one selection, order matters
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Combinations – Single source, one selection, order doesn’t matter
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Number of ways of distributing n identical things among r persons when each person may get any number of things = C(n+r-1, r-1)
Series and Sequence - Arithmetic Progression
· Term = a+(n-1)d
· Sum = 
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a= first term, l=last term, n=number of terms, d=difference
· Number of integers from A to B inclusive = B – A + 1

· Even consecutive numbers: 2n, 2n + 2, 2n + 4… = 2(n), 2(n+1), 2(n+2)…
· Odd consecutive numbers: 2n + 1, 2n + 3, 2n + 5…
· Sum of consecutive numbers = n/2[2a + n – 1]
· Sum of odd/even consecutive numbers = 
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	Substitute a=x, and n

	n
	
	
	

	1
	x
	x
	

	2
	x + (x+1)
	2x + 1
	always odd

	3
	2x + 1 + (x + 2)
	3x + 3
	

	4
	3x + 3 + (x + 3)
	4x + 6
	always even

	5
	4x + 6 + (x + 4)
	5x + 10
	

	6
	5x + 10 + (x + 5)
	6x + 15
	always odd

	7
	6x + 15 + (x + 6)
	7x + 21
	

	8
	7x + 21 + (x + 7)
	8x + 28
	always even

	9
	8x + 28 + (x + 8)
	9x + 36
	

	10
	9x + 36 + (x + 9)
	10 x + 45
	always odd


Series and Sequence - Geometric Progression

· Term = 
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· Sum = 
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· Infinity Sum = 
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Basic Principles – Geometry

π ≈ 3.14 ≈ 3

√1 ≈ 1

√2 ≈ 1.4

√3 ≈ 1.7

√4 ≈ 2

√5 ≈ 2.236
1. Degrees and Angles

   Laterally Opposite Angles




Vertically opposite angles



2. Triangles

· the sides of a triangle are in the same proportions as its angles

· one side of a triangle can never be longer than the sum of the lengths of the other 2 sides of the triangles

· the perimeter of a triangle is the sum of the lengths of the 3 sides

· Equilateral, Isosceles, Right Angled

· Pythagoras Theorem a2 + b2 = c2
· Special triangles

· Area = 
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· Thales' theorem states that if A, B and C are points on a circle where the line AC is a diameter of the circle, then the angle ABC is a right angle. Thales' theorem is a special case of the inscribed angle theorem.
The converse of Thales' theorem is also valid; it states that a right triangle's hypotenuse is a diameter of its circumcircle.







3. Area

b = breadth, h=height, d=diagonal, s=side, r=radius

· Rectangle = bh

· Long thin rectangle will have a bigger perimeter than another rectangle with same area.

· Parallelogram = bh
· Rhombus = 0.5 d1d2
· Square = s2 = 0.5d2
· Triangle = 0.5bh
· Equilateral Triangle = (√3s2)/4
· Trapezoid = 0.5h(b1 + b2)
· Circle = πr2
4. Perimeter
· Polygon = sum of all the sides
· Circle Circumference = 2 πr
5. Circle
1. A central angle is equal in degrees to its intercepted arc.
2. An inscribed angle is equal in degrees to one-half its intercepted arc.

3. An angle formed by two chords intersecting in a circle is equal in degrees to one-half the sum of its intercepted arcs. 

4. An angle formed outside a circle by two secants, a secant and a tangent, or two tangents is equal in degrees to one-half the difference of its intercepted arcs. 

5. Two tangent segments drawn to a circle from the same external point are congruent.
6. Volumes
· Solid = lbh
· Cubes =  s3
· Cylinders = πr2h
· Sphere =  
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7. Polygons
· If each vertex of a polygon lies on a circle, the polygon is inscribed in the circle and the circle is circumscribed about the polygon. If each side of a polygon is tangent to a circle, the polygon is circumscribed about the circle and the circle is inscribed in the polygon.
E.g. quadrilateral PQRS is inscribed in a circle and hexagon ABCDEF is circumscribed about a circle.
[image: image56.png]



· Sum of Interior Angles of n-sided polygon = (n-2)180º
· Apothem of a regular polygon is perpendicular to a side, bisects that side, and also bisects a central angle. OX is an apothem. It bisects AB, is perpendicular to AB and bisects AOB


· The area of a regular polygon is equal to 0.5* perimeter*apothem
E.g. 0.5*3*(5*6) = 45
8. Coordinate geometry

· Gradient = 
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· Distance between 2 points 

· Midpoint of a line segment
· Longest line that can be drawn in a rectangular solid (cuboid): 
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· if 2 lines are perpendicular, then the product of their gradients will be: m1m2 = - 1
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�
Questions�
Time Allotted�
�
Analysis of an Issue


Analysis of an Argument�
1 Topic


1 Topic�
30 minutes


30 minutes�
�
Optional Rest Break�
NA�
5 minutes�
�
Quantitative 


- Problem Solving


- Data Sufficiency)�
37


23-24


13-14�
75 minutes�
�
Optional Rest Break�
NA�
5 minutes�
�
Verbal 


- Reading Comprehension


- Critical Reasoning


- Sentence Correction�
41


4 passages


14-15


14-15�
75 minutes�
�
�
78+2 Essays�
4hours (approx)�
�






Directions: After reading the question, pick the best answer among the choices that follow.





Directions: Read the passage below, then answer questions based on your knowledge of what has been directly said on the passage or what can be inferred from it. You may have to use the scroll bar to see the entire passage. Answer each question by clicking the oval; in front of the best response.





Directions: Part or all of each sentence that follows has been underlined. If you think the sentence is correct as written, pick the first answer choice, which simply repeats the unlined portion exactly. Of you think there is something wrong with the sentence as written, choose the answer choice that best replaces the underlined portion of the sentence.





Sentence correction questions are defined to measure our correct use of grammar, your ability to form clear and effective sentences and your capacity to choose the most appropriate words. Pick the answer that best states what was meant in the original sentence avoiding constructions which are awkward unclear, or which unnecessarily repeat themselves.





Directions: Discuss the extent to which you agree or disagree with the opinion expressed above. Support your point of view with reasons and/or examples from your own experience, observations, or reading.


.








Directions: Solve the following problem, using the scratch paper provided for your computations.


Numbers: This test uses only real numbers; no imaginary numbers are used or implied.


Diagrams: All problem solving diagrams are drawn accurately as possible UNLESS it is specifically noted that a diagram is “not drawn to scale”. All diagrams are in a plane unless stated otherwise.





Data Sufficiency


Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.


Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.


BOTH statements TOGETHER are sufficient, but NEITHER statement alone is sufficient.


EACH statement ALONE is sufficient.


Statements (1) and (2) TOGETHER are NOT sufficient.





(1) 





Yes





(2) 





Yes





D





A





No





No





B





(2) 





Yes





No





(1)


(2) 





Yes





C





E





No





When (1) is correct, verify if (2) is correct before putting A as the answer.





-4    -3      -2     -1       0       1       2       3       4       5





Even * even = even


Odd * odd = odd


Even * odd = even





Even + even = even


Odd + odd = even


Even + odd = odd





Units 1


Tens 10


Hundreds 100





(+) * (+) = (+)


(+) * (-) = (-)


(-) * (-) = (+)





Arithmetic Operator


+	Addition


-	Subtraction. y subtract from y = y minus x = y - x


×	Multiplication


÷	Division


√	Square root


x2	Square





BODMAS





Fractions:


1. Addition


2. Subtraction


3. Multiplication


4. Reducing


5. Dividing


6. Converting to Fractions


7. Comparing Fractions





Decimals:


1. Addition


2. Subtraction


3. Multiplication


4. Dividing


5. Rounding off





     


       B





   


     A





ax	b	bcx


cx	d	adx


acx2	bd	(bc+ad)x





Eg. If you rolled the dice, what is the probability that it would land with either the ‘2’ or the ‘3’?   � EMBED Equation.3  ���





Eg. If you rolled the dice 2 times, what is the probability that it would land with ‘2’ both times?  � EMBED Equation.3  ���





18 children, including Sally and Sam are watching a magician. The magician summons children up to the stage to assist one at a time. What is the probability that Sally or Sam will be chosen first? � EMBED Equation.3  ���





18 children, including Sally and Sam are watching a magician. The magician summons children up to the stage to assist one at a time. What is the probability that neither Sally nor Sam will be chosen first? � EMBED Equation.3  ���





18 children, including Sally and Sam are watching a magician. The magician summons 4 children up to the stage to assist one at a time and he/she returns after that. What is the probability that a girl is chosen at least once? � EMBED Equation.3  ���





D





1x





1x





√2x





45°





1x





2x





√3x





60°





30°
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Countable�
Non-countable�
�
Fewer (not as many)�
Less (not as much)�
�
Number�
Amount, quantity�
�
many�
much�
�
Majority of the �
Greater part of the�
�
�
�
�






A-->B


A, Therefore B


A only if B�
If-Then statements: A is premise/assumptions/evidence, B is conclusion


If A is true, then B is true as well. 


If B is false, then A is false as well (contra positive). 


If B is true, then we know nothing about A


If A is false, then we know nothing about B�
�
A-->B 


B-->C 


Therefore, A-->C�
Transitive property�
�
~(A & B) = ~A or ~B 


~(A or B) = ~A & ~B �
De Morgan’s Law�
�
~B-->A


A unless B�
Unless


E.g. Biff is at the beach unless it is raining. ~R-->B�
�
I-->~D 


~D Therefore, I 


--> Circular Argument�
If he is innocent, then when we hold him under water for sixty seconds he will not drown. Since he did not die when we dunked him in the water, he must be innocent. �
�
N-->H 


H Therefore, N �
There were nuts in that pie I just ate. There had to be, because when I eat nuts I break out in hives, and I just noticed a blemish on my hand�
�
S-->P 


~P 


Therefore, ~S �
To insure that the remaining wetlands survive, they must be protected by the government. This particular wetland is being neglected. Therefore, it will soon perish. �
�
R-->~T 


~R 


Therefore, T �
The senator will be re-elected only if he opposes the new tax bill. But he was defeated. So he must have supported the new tax bill�
�
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EEAA GCP





A





B





(1) is sufficient – A or D


(1) is insufficient – B, C or E





(2) is sufficient – B or D


(2) is insufficient – A, C or E





Even - even = even


Odd - odd = even
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2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 97, 


101, 103, 107, 109, 113, 127, 131, 137, 139.
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Area = 50*1, Perimeter = 102
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Area = 5*10


Perimeter = 30





AO = OB = OC = Radius


AC = Diameter = hypotenuse





When total = P(AUB) + P(AUB)’


P(A) = x


P(B) = y


P(AUB) = x


From P(AUB) = P(A) 


P(A∩B) = y = P(B)


P(AUB)’ = 1- P(AUB)
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